Multiplying a 3-digit number

by a I-digit number

0 The place value counters show a multi

to the multiplication.
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G Complete the multiplications.

a 2| 3
X 4
b) | | 4
X 5
c) Il 1 5
X 4

plication. Work out the answe

I 3 4
* 2
| 4 8
b 3
2 5 2
% 7
3 1 8




Work out the answers to these multiplications.

a) |22x5=[:]

) 2?Dx3=D

¥

L -

¥

.

b) 2|5x5=C]

d) -»:.xﬁzz.:[:]

¥ | ¥

| —

° Find the missing numbers.

° A bar of soap weighs 145 g

How much do 8 of these bars weigh?

8 bars of soap weigh [: g.




e Alex is multiplying 136 by 7. What mistakes has she made? @

-

Here are some digit cards.
° 2]

DDQ DDQ DDQ DD[;}

Arrange the number cards to make these answers:

1505 [ 1064 J( 358 ][ 1757 ]

Explain to your partner how to multiply 195 by 3.

Can your partner describe a different method?







